Math 12!

Basic Stak
Probability and Statistics - Test 2
Name:
GUST ID:

Thursday 16th April, 2015

Notes: For full credit, please show your calculation methods. Scientific calculators are not per-
mitted, but non-scientific calculators are permitted.

Questions:
1) For the data in the table:
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a) Find the value of a
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b) Find the expected value of X.

(c2)+ (2. 03)+(

(- 605) = Le.T)

2. 03)+ (4 0.05)+ (S



2) Khalid buys 10 chairs for his employees. The probability that a chair is faulty is 0.05. Assume

a binomial distribution. n

a) Find the probability that 2 chairs are faulty.
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b) Find the probability that less than 2 chairs are faulty.
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c) Find the probability that at least 1 chair is faulty.
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3) The number of phone calls arriving at a call center has a mean of 6 calls per hour. Assume

a Possion distribution.
a) What is the probability that there are no calls in a given hour?
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b) What is the probability that there are 6 calls in a given hour?
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c) What is the probability that there are 4 or 5 calls in a given hour?
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4) A manager of a factory studies the distribution of the weights of bricks. He finds that the
distribution is normal, with mean 5kg, and standard deviation 0.1kg.
a) What is the probability that a random brick is less than 4.85kg?
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b) What is the probability that a random brick is between than 4.8kg and 5.1kg?
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c¢) 10% of the bricks are lighter than zkg, and 90% are heavier than zkg. What is z7 (1 e. find
z so that P(X < z) = 0.10).
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5) An airplane arrives at a random time between 5:20pm and 5:30pm. Assume thaf the time

follows a uniform distribution.
a) Write the probability density function.

b) What is the probability that the arrival time is between 5:20pm and 5:24pm?

¢) What is the probability that the arrival time is between 5:30pm and 5:35pm?

END OF QUESTIONS





